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A=A 90mm A & rork
Pari=PiN 115mmfA & opk
P ri=PiN 135mm A & opk
P ri=PiN 146mm A & opk
DI—=2GF7HETE 90mm A & opk
HY—=— 5 FETAR 115mmfA & opk
HY—=— 5 FETA 135mm A & opk
HY—=— 5 FETA 146mm A & opk
IXRTFriarvaylk 90mm A & rork
IXRTFravAay kR 115mmfH & opk
IXRTFravAay kR 135mmfH & opk
IXRTFravAay kR 146mmfA & opk
RUJLs4 7 (1. 5miZ#) 90mmfH X il
RUJLs4 7 (1. 5miZ#) 115mmfH X il
RUJL/s4 7 (1. 5miZ#) 135mmfH X il
RUJLs4 7 (1. 5miZ#) 146mmfH X il
AoF—0y F (. 5mZ#E) 90mm A & rork
1>F—ay F (. 5mE#) 115mmf & i
A1>F—ay F (. 5mE#) 135mmAH & i
A1>F—ay F (. 5mE#) 146mmF & i
YUGEY R 90mm A & rork
Y OEYE 115mmfe N sokk
Y OEYE 135mmfH N sokk
YUGEY R 146mmfA PN opk
AF—EYF 90mm A & rork
AoF—Ey K 115mmH & okk
AoF—Ey K 135mmH & okk
AoF—EvE 146mmfH & okk
VA—B—RANN (2BE) 90mm A 18 okk
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V=B —RANL (2EE) 115mmfH & bk
V=B —RAN (2BE) 135mmpH & ok
V=B —RANL (2EE) 146mmfA & bk
A7 5 T4 90mmER & sokok
A7 5 T4 115mmfR & sokok
A7 5 T4 135mmfR & sokok
A7 5 T4 146mmfR & Sokk




